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Attempt this Paper on this Question Sheet only.
(Objective Part)

Q.No. 1 Encircle the correct answer. | : (5 x2=10)
The demand of basic necessities is:
a) More Elastic '
b) Less elastic
¢) Infinite elastic
d) Zero elastic
II | When marginal utility is zero, the total utility is:
a) Negative
b) Positive
¢) Maximum
d) Zero
m Which is not includéd in natural »1'esour§es-:
a) Mincfals
b} Climate
c) Money
d) Forests 7
v The method of calculating total revenue is: |
a) PxAC
b) PxQ
¢} ACxQ
d) MCxQ
v The entry of firms in market under perfect competition is:
a) Prohibited
b) Free
c) Conditional

d) By the permission of Govt.
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Q. No. 2 | Differentiate the following with examples (5 x 4=20)
i Marginal Utility.

ii. Difference between inferior and normal commodity.

iii. Scale of production,

iv. Difference between Total Fixed and Total Variable Cost.

v. Normal profit.

SUBJECTIVE QUESTIONS

Note: Attempt all questions. (10 x3=30)

Q.No.3 | What is meant by Indifference curve? Explain its properties.
Q. No. 4 | Explain the law of supply with the help of schedule and diagram.

Q.No.5 | Explain how price and output is determined under monopoly.
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Part I (Objective)

Q: 1 Choose correct answer from four possible answers. 1x10=10

. How many factors of production are
a. 3

b. 4
c. 5
d 6

il Reward of Labour is
a. Rent
b. Interest
c. Wages
d. Profit

ili.  The ability and willingness to purchase a good is
a. Law of supply
b. Demand

c. Supply
d. Elasticity

iv.  Human wants are
a) Few
b) finite
¢) Unlimited
d) One Thousand

v.  Milk is a commodity
a) Perishable
b) Durable
c) Expensive
d) Not for sale

vi,  Father of Economics is

a. Smith
b. Robins
¢. Marshall
d. Malthus
vii.  The level of output for a perfectly competitive firm is determined where
a. MR=AC
b. MR=MC where slope of MC is greater than MR
¢. MR exceed MC by the greatest amount
d. MR=MC and MC is rising

vili.  Fiscal policy is made by
a) State Bank
b} Government
¢} Businessmen
d) Households

ix.  Elasticity of inferior goods is

a. E>1
b. E<1
c. E=1
d. E=w

X.  Monetary policy is made by
a)} State Bank
b) Government
¢) DBusinessmen
d) Commercial banks
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Part II (Subjective)
Attempt any four questions

Q: 2 briefly explain the following concepts (20)

iii.
iv.

V.

vi.

vi
vi

Law of diminishing Marginal utility
Production possibility Frontier

List the determinants of Demand
What are measures of inflation
Business Cycle

Cross elasticity of demand

i Characteristics of Monopaoly

ii. Whatis GDP

Fiscal Policy

Flexible Exchange Rate

Define perfect competition. List its assumptions (04)
Discuss the equilibrium of a firm under perfect compétition position (06)

Explain of the following

Price elasticity of Demand (05)
Cross elasticity of demand (05)
What is Fiscal policy? (02)
Discuss the tool of Fisal policy briefly. ©8)
Part Il (Subjective) 34
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PART-I (10 MARKS)
Encircle the Right Answer:

1-Economics was considered as a science of material welfare by:
(a) Adam Smith (b)Marshall (c)Keynes (d) Robins
s ﬂ,—C Jﬂb e i‘fr:r-J' :.lzul/"'rklfdlié}dmf&?bﬁ-l

2-The economic laws are: (a) Exact (b) Permanent (¢) Conditional (d) Quantitative
L’Ju!’f-) J,)/‘"_G J‘[—h:, dy -Jl u?z-—ﬂwf’; U"b‘—Z

3-Which is not study in Macro —economics: (a) National Income (b) Price Theory (¢)Employment (d)Inflation
Ku'}l/‘lq K853, Kood g)}u KJ#TU;‘J' H’L:(‘Jj("‘Jw JEQ?VL}{'B

4-The rate of change in total utility is:(a) Initial utility (b) Zero utility (c) Negative utility (d) Marginal utility ,
BBl w2, Bl g witdizg g5 TSk oS -a

5-The consumer is in equilibrium when marginal utility of all goods is:
(a) Declining (b) Equal (¢) Rising (d) Zero

Yy Ahieh-l G- st npﬁ;-...ﬂl :a;lilul:ind‘br_,g_/‘ldlﬁjggq. b L =T i s

6-The slope of the indifference curve is: (a) Positive  (b) Negative (c) Horizontal (d) Vertical
Garf s $ie Fe b G b7 K Fruts-6

7- Due to rise in demand, the demand curve shifts to: (a) Left (b)Right (c¢) Downwards (d) Both sides
J)’ A é-c Lj:’l)—u...a u:’l_. -3 e tﬂﬁvupc.ﬁ:‘.c(—?u-7

8-The demand of luxuries is: (a) More elastic (b) Less elastic  (c) Zero elastic (d) Infinite

Jlﬁg)_ufﬂ ) .‘.g AL Jugﬁ(-_., .'U.guy-—w :QJﬂJJ&@-E

9-Decrease in supply due to cost of production is called:
(a) Rise in supply (b) Fall in supply (c) Extension of supply (d) Contraction of supply

'i?a Earses L'i_*-fb’#z—é/ bﬂfJ-u.— I TR :c‘;.JMJufqu;c..?; JJJL_‘,; gfl’J-9

10-Quickly destroyable goods are called:
(a) Normal goods (b} Inferior goods (c) Giffen goods (d) Perishable goods

L bt i Wil WP G i L de-10
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Part — II Questions with short Answers (4x5=20 Marks)

1-Define human wants. Write at least two characteristics of human wants. '
o e 5 S el S S el
2-Explain the point elasticity of demand. 2
-b{.f&U:JLg#JJ-Z
3-Differentiate between the extension and contraction of demand.
JF eSS L E S L3
4-Define Macro economics. Write any two issues of Macro economics. ) ) .
-%f’ucdfﬁ&lj’@gﬁdi;—?/J&E;Pur-f#
5-What is the difference between supply and stock? .
TC‘—J/.L_:{U:D/.?.;J}l)”J -5

Part — III Questions with brief answers (10x3=30 Marks)

1-Define economic laws and describe their characteristics. » .
o decher® S f oy FELT G

2-Define elasticity of supply. How is it measured? Explain with the help of schedute and diagram.
-;}_’f&DDJLJ»JrF/:e‘SJﬁ d_-ﬂ};?’vc"-r&%Jé(j{@é’l'qf'-@;kg-’glfy*z

3. Explain the law of Equi-Marginal utility with the help of schedule diagram.

=, N TR O T PR
-‘,f:/(QJ#Jr'/f ol vy Solos f# S rT-3
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Encircle the Right Answer: (10x1=10)

i-A temporary unemployment which exists during the period of transfer of labour from one occupation to
another is called:

(a)Voluntary Unemployment - (b)lnvoluntary Unemployment

(¢)Cyeclical Unemployment (d)Frictional Unemployment

:../(_SM_%&:?I,_%Q._v:JLfJPJf%@/U:.%i{'L& ,J/!?U’ng.)l.L,ObJL?-l

SHisse (& Als) S S (Z) Sobisd siiBle (o) Sk plAZ
2-The investiment which undertaken independently of the level of income is known as:
oy
{a)Autonomous Investment (b)Induced Investment (c)Public Investment {d)Private Investment

:q—(jMLQng?;l:ljf/vi/f Lf/JJ,, Tjgd,g:,'p/_z

Mfu/d.’;()) SRV L Pl () SHbrBlad ) Bl ABLA ()
3-The consumption expenditure shows the relationship between consumption and:
(a)interest Rate (b)Saving (c)Price Level Changes (d)Disposable Income
et o F Qe Lt 63
DRSNS st fui @ eFle) A
‘4—The ratio between consumption and income is called:
fa)Average Propensity to Consume (b)Marginal Propensity to Consume
{c)Consumption Function (d)Saving Function

>

e Qe LuTa

410 BTt J/g)t&"ﬁy(_f)

5-Macro Economics does not discuss:

(a)Unemployment (b)Price Theory (c)nflation (d)Banking

S () SiHA) ot o F (o) S (i) U a5 e dos

1

(P.T.0.)



6-The basic function of the central bank is:

(a)To control credit (b) To Earn Profit  (¢)To Collcct Deposits  (d) To Create Credit ._
| e t':fu’)d)l{._ﬂu'f/G
SR RPRILTS SU e W) ST
7-The policy adopted by the central bank to control credit is called:
(a)Fiscal Policy (b)Indﬁstrial Policy (c)Monetary Policy (d)Commercial Policy
:c‘,L—SW:%t'le:BJu’g_l;:?_ﬂdf/.’:“if_«i_—fd),/b;f;)d;lfmfl
CA ) u”fgdu'(zy) Ji’g&‘y(g) «fﬂ&yu»ﬂn
T
3-When general price level increases due to increase in aggregate demand, it s known as:
(a)Stagflation (bYHyper Inflation (c)Demand Pull Inflation (d)Cost Push Inflation
et e 2 F LI B St uRd o
2ib B E () LR E b (L) SbAAE () A1)
9-The relation between quantity of money and price is:
(a)Positive (b)Negative (¢)Direct (d)Inverse
e b P U Eod s 3 -
S 0) () &) :»_i'f('\;ﬁf)
10-One is not the cause of adverse balance of payments:
(a)increase in imports (b)Deccrease 1n exports (c) Population Control (d)inflation

PRV ORIV S IEVERTY
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Q-2 Explain the following with examples: ~ (10x2=20) .
-L)_’)/C,J»JU)’@‘@U;JJ_:»GJJ-Z-/_/J')"

1-Boom

‘ (_SJUL_ rf— 1
11-Seasonal Unemployment : .
S f v-2
i1i-Gross Domestic Product ,.

J'}lﬁuﬂ(S—B
1v-Per Capita Income |
Jmfduft}-ll
v-Marginal Propensity to Consume
J/"L:jll_-f,"’:‘.{ -5
vi-Token Money
PREN

vii-Stagllation

i . 3 L}”/"-"]

vii-Direct Tax
J?.:begf/,-B
ix-Current Account
Ulisi -9
x-Protection g
cik-10
Q-3- Explain the total product method of measuring national income and write precautiong (10 marks)
(£10) - gFeobss§E L FEFe$3uisi 3
Q-4-Define money. What are the important functions of money?(10 marks)
Aoy Sewfuf PUEiigl o Sa
Q-5-Desceribe the sources of public revenue. (10 marks)

(£10) U Il LTS s e
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Q:2 Briefly explain the following concept. (10x2=20)

- Write the Robbin’s definition of Economics.
1f.  Whal is opportunity cost?
Hl.  Differentiate between supply and stock.
IV.  Write any four causes of shifiing of supply curve.
V.  Write consumer equilibrium equation under Law of Equi-Marginal Utility.

V1.  Write the names of factors of production and their rewards.
VIl.  Define the total Product, Marginal Product and Average Product.
VI, Write short-run equilibrium of & firm under Prefect Competition.

IX. Differentiate between GDP and GNP.
X.  Explain the phase of business cycles.

():3 (a) Define the law of Diminishing Marginal Utility. o)
(b) Explain the law of Diminishing Marginat Utility with help of table and diagram. (04)
(¢) Write the assumptions of law of Diminishing Marginal Utility. (04)

Q: 4 (a) Define the laws of return. (02)

(b) Explain the Law of Diminishing Returns with the help of Table and Diagram. (04)
(¢) To which sector of economy, it is more applicable and why? (04)
Q:5 (a) What is monetary policy (02)
(b) Explain in detail the instruments ol monetary policy. (08)

(2) S et FEFE i S B ) Y
(4) Y /. c»L’uJ Fz‘?uﬁlﬁ au:"l"' c.uJ rl/? Bt (<)
€) S e P LFE it K 96 @)
@ Sl FES oL (A
1) -u:/c..u Jrlflﬁmul:’fyu:Jwbd.fw“c)]ﬁ' ()

—e byt e Lt Il Ol st @)
(4) U LF 2 Suz
(2) fe sl Vet .:‘_,0""} LSs (s A iy
(8) LS KM LS5 ()
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Q: I Eacircle the correct answer (10x1=10)

i: Which one of the following is the subject matter of Economics?

a) Deal with economics problems of the LDCs

b) Optimum use of limited resources for the satislaction of unlimited human wants
¢} Labor economics problem

d) Balances of payment problems

it: The negative relationship between price and quantity may be affected due to;

a) Bandwagon effects
b) Snob cflects

c) Veblen effects

d} All of the above

in: Perfectiy Inelastic Supply curve is;

a) Parallel to vertical axis

b) Parallel to horizontal axis
¢) Rises upward to the right
d) Falls downward to the right

iv: Formula of the measurement of Arc elasticity of demand is;
O PP —_ - P

0 v 0y Q-Q . P
Q[‘i‘Q] P['FPQ Q')— +Q‘ PQ-—-* P‘

PP . Q-1
C) . d) none of the three
Pr 4P R24Q, :

(P.T.0.)



v: Law of equi-marginal utility is also called;

a) Law of maximum social benefil
b) Law of substilution

c) Law of economy

d) Law of maximum satisfaction

vi: In market equilibrium;

a) Price = Demand curve

b) Demand curve = Supply curve
¢} Price = Supply curve

d) None of the three

vii: Normal Profit is attained where;

a) TR = 1C
by TR > TC
) AR > MR
d) AR < MR

viii: What will be expectled result if the value of rupee falls against dollar;

a) Price ol Pakistani goods in USA will fall

b) Price of Pakistani goods in Pakistan will fall
¢} Price of American goods in USA will fall

d) Price of American goods in Pakistan will rise

ix: [nflaton s a situation when;

a) Prices of some goods rises

b} General Price level rises continuously
¢) Prices rise and fall alternately

d) Prices double every year

x: The GNP 1y

a) total sales in the economy
b} total monetary transactions in an economy

¢) sum of market values of all goods and services produced in an economy
d) total spending in an economy
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{2) Provide short answers {(maximum 10 sentences per answer). (MARKS: 20)
i. Whatis a production function?

i, Whatis meant by a free market?
ifi.  Why is the demand curve downward sloping?
tv.  Give an example each of Substitutes and complementary goods.

v.  What is the difference in the long run and the short run with reference to Cost theory?

vi.  How is Monopoly maintained?
vii. ~ What is the difference in ‘Extension in Demand’ and ‘Contraction in Demand’?
viii.  What is a shortage situation with reference to Market mechanism?

ix. Differentiate between Microeconomics and Macroeconomics.

X.  Define Price Elasticity of Demand.

(3) Answer the following briefly. (3x10=30)

a. Discuss the Law of Demand with the help of schedules and diagrams.
b. What are the properties of Indifference Curve? Prove them.

c. Differentiate between Parfect Competition and Monopolistic Competition.



UNIVERSITY OF THE PUNJAB
Second Semester - 2018 s Roll No. ..cccoiananianeaee

Examination: B.S. 4 Years Programme s

PAPER: Economics (Micro) for Commerce TIME ALLOWED: 15 Mints. \\
Course Code: ECON-131/EC0-12320_Part —I (Compulsory) _ MAX. MARKS: 10 7

Attempt this Paper on this Question Sheet only.

Please encircle the correct option. Each MCOQ carries 1 Mark. This Paper will be collected
back after expiry of time limit mentioned above.

@ , - (10xt=10)

i.  An Indifference Curve shows

a) Equal Prices b} Same income c) Same Satisfaction
d) Budget e} Demand of goods
ii. One of the topics in Microeconomics is
a) National Income b} Aggregate Demand ¢} Local Trade
d} The theory of the firm e) International Trade
iii. Laws of production are also called
a) Market demand theory b) Market Supply theory ¢} Input pricing
d) Laws of Return e} Laws of Market
iv.  Firms entry in the market is restricted in
a) Perfect Competition b)  Free Market ¢} Pakistan
d) Monopoly e} Monopolistic Competition

v. MR =MC = AR = AC in which type of market?

a) Perfect Competition b} Monopoly ¢) Duopoly
d) Monopolistic Competition e} Imperfect Market
vi. We may observe an extension in demand due to
a) increase in taxes : b) decrease in Price c) War
d) Increase in price e] More substitutes
vii.  Cross Price Elasticity of Demand for substitutes is )
a) zero b) Positive c) negative
d) Unity e) None of the options
viii. Costis a function of
a) Price b) Factor inputs c) Income
d) Supply e} Output
ix.  MC=MRis also called
a} Cost condition b) Firm’s Closure c} Identity
d) Revenue condition e} Firm’s Equilibrium condition

X. David Ricardo is known mainly for the theory of

a} Profit ‘ b) Rent c) Interest
d} Demand e} Supply
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Q1. Choose the correct answer listed below against each part. (10x1=10)
1. The cost of one thing in terms of the alternative given up is called:
a) real cost
b) opportunity cost
c¢) production cost

d) physical cost

o

The short run 1s
a) less than a year.
b) three years.
¢} however long it takes to produce the planned output.
d) & time period in which at least one input is fixed.
3. The function which shows combinations of inputs that yield the same output is called a(n)
a) 1socost curve.
b} production function.
c) production possibilities frontier.
d) isoquant curve.
4. The difference between the cconomic and accounting costs ol a firm are
a) the accountant’s fees.
b) the corporate taxes on profits .
c) the sunk costs incurred by the firm.

d) the opportunity costs of the factors of production that the firm owns.

N

Which of the following costs always declines as output increases?
a) Average cost
b) Marginal cost
c) Average fixed cost
d) Fixed cost
(P.T.0.)



9.

The total cost {TC) of producing computer software diskettes (Q) is given as: TC = 200
5Q). What is the fixed cost?
a) 5Q
b) 5
¢) 200
d) 5+ (200/Q)
The total cost (TC) of producing computer software diskettes (Q) is given as: TC =200
5Q. What is the marginal cost?
a) 200
b) 5Q
c) 5
d) 3 +(200/Q)
Demand for factors of production is:
a) Joint demand
b) Composite demand
¢) Derived demand
d) None of the above
For which of the following market structures is it assumed that there are barriers to entr
a) Perfect competition
b) Monopoly |
¢) Monopolistic competition

d) all of the above

10. The supply curve for a competitive firm is

a) its entire MC curve.
b) its MC curve above the minimum point of the AVC curve.
¢) the upward-sloping portion of its MC curve.

d) its MC curve above the minimum point of the ATC curve.

+

+

y?
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Q2. Explain the following briefly. {Not more than three lines) 5X4=20
[.  Opportunity cost
Il.  Imperfect competition
IH.  Small scale production
IV.  TR-TC approach of profit maximization
Q3. What are the dis advantages of producing at small scale? 10
Q4. Explain the short run equilibrium of the industry under perfect competition. 10

Q5. Explain the equilibrium of the firm with the help of TC-TR approach and MC-MR approach.
10
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SUBJECTIVE PART

Q. No. 2 Bricfly answer the following questions (4x5=20()

I.  Downward sloping demand curve under monopoly
i Multiplant monopoly
iil.  Shut down situation under perfect competition
v.  Abnormal profit under monopolistic competition

v.  Price discrimination

Q. No. 3 Explain the concept ol consumer’s equilibrium through indifference curve
approach. (10)

Q. No. 4 What are the points of differences between perlect competition and monopolistic
competition? - ‘ C (10)

Q. No.5 Explain the major properties of Cobb Douglas Production [unction. (10)
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OBJECTI VE PART
. No. 1 Choose the correct option (1x10=10)

. Apples and Oranges arc substitute goods; a freeze in Ilorida destroyed a good portion of
the orange crop. Ceteris peribus
a) The price of both apples and oranges will increase

b) The price of both apples and oranges will fall
¢} The price of oranges will increase and the prices of apples will decrease
d) The price of oranges will decrease and the prices of apples will increase

Il. When the decrease in the price of one good causes the demand for another good o
decrease, the goods are '
a) Normal
b) Inferior
¢) Substitutes
d) complements
[1f. Which one will not cause a shift in supply curve?

a) Improvement in technology

by Wage rate

¢) Price of the product

d) Interest rate
IV. Sunk costs are |

a) Costs that cannot be avoided, because they have already been incurred

b) The costs of what we give up when we make a choice or a decision

¢) The additional costs of producing an additional unit of a product

d) The additional costs of consuming an additional unit of a product
V. Accounting prolit is defined as:

a) Total Revenue — Implicit Cost

b} Total Revenuc — Total Opportunity Cost

¢) Total Revenue — Explicit Cost

d) None of the above

P.T.O.



VI.  Which of the following is not characteristic of perfect competition?

a)  Large number of sellers

b) l)i['l'crcnliatcdrproducl

¢) LEasy entry

d) No advertising

VIL.  For a monopolist to seil more units of output

a) The pricc of the output must be increased

b) The price of the output must be decreased

¢) Demand must become more elastic

d)} ‘The other competing firms must sell fewer units

VIIl.  The feature that distinguishes monopolistic competition from perfect competition is that
monopolistically competitive firms are
a) Large relative to the market
b) Price takers
c) Able to block the entry of other. firms
d} Able to differentiate their product
[X. Monopolist's supply curve is
a)  The marginal cost curve above minimum average variable cost
by The marginal cost curve above minimum average total cost
¢) The marginal cost curve below marginal variable cost
d) Nonexistent
X, Ifa firm has some degree of market power, then output price

a) [s guaranteed to be above a firm’s average cost
b) s determined by the actions of other firms in the industry
¢) No longer influences the amount demanded of the firm’s product

d) Becomes a decision variable for the firm
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Q.#2: Write short answer to the following.

Q.#3:

Q.44:

Q.#5:

UNIVERSITY OF THE PUNJAB

Third Semester 2018 .
Examination: B.S. 4 Years Programme 3 .If‘fl.l H‘.’; Al

TIME ALLOWED: 2 hrs. & 30 mins.

Attempt this Paper on Separate Answer Sheet provided.
SUBJECTIVE

(5x4=20)
[ Demographic Transition

I Two Gap Model

11l Debt Rescheduling

V. Terms of Trade
V. Domestic Resource Mobilization

How a country can achieve higher level of growth by unbalancing the economy.

Some economists objected the idea of unbalance, explain their views in detail.
(10)

How Fei and Rain (F-R) has overcame with the problems of Lewis modelof dual
economy. Discuss in detail. : - (10)

What were the benefits gain by Pakistan by Green revolution and how it has
impacted the economy?. (10)
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OBJECTIVE
Q.#1: Select the corvect ansy er. (1x10=10)
L. Value of Human Development Index (HDI) lies between:
(ay 0 and | {b) 1 and 10 (c) 1 and 100 (d)-1 and 1
I1. (Green Revolution started in Pakistan in:

(a) Farly 1960°s  (b) Early 1970’s (c) Early 1980°s (d)None of the given

[I. Pakistan has been a WTO member since:
(a) 1947 {(b)y 1971 (c) 1995 (d) 2005
V. Balance growih theory was presented by :
(a) Ragnar Nurkse  (b) Rosentine (c) Mankiv  (d) None of the given
V. Pakistan is considered as ------- economy.
(a) (b) Developed (¢) Developing (d) Bothaand b
VL Asian financial crises started in
(2)1990 (b)1993 (c) 1997 (d) 1999
VIIL Most of the exports of Pakistan consist of!:

{a}Industrial Products (b) Sports Goods (¢) Cotton Products (d)aandb

VIIL The largest item of our imports is:

(a)Petroleum (b) Computers (c) Cotton Cloth (dyaandb
IX. The unemployment rate in Pakistan 1s:

(a) 3% (b) 4% (¢) 5.9% d)7 %
X. General Agreement on Tariff and Trade (GATT) came into being in:

(a) 1940 (611947 (c) 1950 (d) 1955
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ATTEMPT THIS PAPER ON SEPARATE ANSWER SHEET PROVIDED.

SUBJECTIVE
Q.#2: Write short answer to the following. (5x4=20)
I- Public saving and corporate saving

1I- GDP and GNP
III-  Barter System
IV-  Inflationary Gap
V- Unemployment

Q.#3: What is meant by equilibrium of national income? Explain with the help  (10)
of a diagram.

Q. #4: Critically analyze classical theory of full employment. (10)

Q. #5: What are the objectives of Monetary Policy? Discuss. (10)



Q. #1:

UNIVERSITY OF THE PUNJAB".,

Third Semester 2018 .
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Attempt this Paper on this Question Sheet only.

OBJECTIVE
NOTE: ATTEMPT ALL QUESTIONS.

Select the correct answer. (10)

I- Macroeconomics is concerned with:
a) The level of out-put of goods and services  b) The general level of prices

c). The growth of real output d). All the above.
I1- Personal income equals disposable income plus:
a) Personal income taxes b) Personal savings
c¢) Dividend payments d) Government expenditure

III- Transfer payments do not include:

a) The purchase of new motor truck by a firm

b) The investment of new machinery in a factory

¢) The addition of a new wing to a factory

d) The purchase of a factory previously used for another purchase

IV- Ceteris paribus means that:

a) Other factors are held constant
b) No other variable affects the dependent variable
¢) No other model can explain the dependent variable.

d) The model is logical

V- When planned saving is greater than planned investment:
a) Output should increase b) Output should decrease
¢) Output should not change d) All of above

VI- Equilibrium occurs in two sector economy model when:

a) Saving equals investment

b) Consumption plus investment equal the value of output.

¢) Planned saving equals investment

d) Aggregate spending equals the revenues of business sector

VII- By definition the marginal propensity to consume:

a) Equals g
b) Is the behavioral coefficient ¢ in equation ¢ = ¢ + cyd

c) Is the slope of the consumption function
d) All of the above.

VIIi- the value of expenditure multiplies relates:

a) The change in income to the change in autonomous spending
b) The change in autonomous spending to the change in income
¢) The change in consumption to the change in income
d) The change in income to the change in consumption

IX- An Expensive monetary and fiscal policy shifts:

a) Aggregate demand to the right  b). Aggregate demand to the left

¢). Aggregate supply to the right d). Aggregate supply to the left
X- Inflation is undesirable:

a) It arbitrarily redistributes real income and wealth

b) Creeping inflation invariably causes hyperinflation

¢) It always tends to make the distribution of income less equal

d) It is accompanied by a declining real output

v RolINO. .cocvriviennneees
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Attempt this Paper on Separate Answer Sheet provided.
SUBJECTIVE PART

Questions with Short Answers

Question 2. Answer the following in 5 to 10 sentences each. Unnecessarily long answers will
lead to negative marking. ‘ Marks: 20

i.  What is meant by Net National Product
iil.  Define Aggregate Supply.
iii.  What is the difference in direct tax and indirect tax?
iv.  What is Keynesian Psycholdgical Law about.
v.  Define MPC.
vi.  Whatis ;the main objective of WTQ?
vii. ~ What is meant by deflation? &
viii., What do you understan‘d by autonon;ous consumption?

ix.  What is product method of national income measurement?

X.  Whatis the difference in ‘Absolute Advantage’ and ‘Comparative Advantage’?

Questions with Brief Answers
Answer the following qﬁestions. Avoid unnecessary details. (Marks: 10 Marks per question)

Question 3. Describe the Psychological Law of Consumption.
Question 5. Explain the theory of Comparative Advantages in international trade.

Question 7. Discuss the concept and measurement of National Income.
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OBJECTIVE PART
Question 1. Encircle the best choice. More than one ci}cle will be considered wrong answer.
Cutting and overwriting is not allowed., ’ “ Marks: 10
i} In Progressive Tax System, the rate of tax |
a. decreases with income level b. Is independent of level of income
¢. Increases with income level d. Depends on the consumption levet
ii) Aggregate demand without a forei\gn sector is the sum of
a. C+l b. C+G
c. 1+G d. C+1+G
iii) Afallin investment can result from:*
a. higher interest rates b. lower expected future profits

¢. more expensive capital goods d. all of the above
iv) Deflation is an/a
a.increase in the level of economic activity.  b. increase in the overall price level,
¢. decrease in the level of economic activity. d. decrease in the overall price level.
v}  Savingis a direct function of
a. Consumption b. Interest rate

c. Demand d. Income
vi)  Fiscal Policy is related to

a. Taxes b. Interest rates

c. Bankrates d. Money Supply

vii) Heckscher and Ohlin presented a theory of

a. Taxes b. Interest rates
c. International Trade d. Money Supply
viii) Intermediate goods are not included to calculate the final output because:
a. theydo not have value b. they have unknown value
c. they are exported d. we need to avoid double counting

ix} Fundamental Psychological Law of Keynes is related to
a. Consumption bh. Investment

c. Inflation d.  Supply

x)  The old name of WTO was
a. ECO c b. WTC

c. GATT d. WTOC -
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Q.H#1; | (1x10=10)
i. Nominal GDP, when adjusted for price changes (i.e. inflation) gives the
(a) Actual GDP ®) Potential GDP
(¢) Real GDP (d)  Full Employment GDP
1i.  During inflation, the purchasing power of money
(a) Increases (b) Decreases
(¢)  Remains Constant (d)  None of these
iii.  GDP deflator =
(a) Nominal GDP / Real GDP (b)  Real GDP / Nominal GDP
(¢)  Potential GDP / Real GDP (d)  None of these
iv. A type of unemployment in which workers are in-between jobs or are searching for new
and better jobs is called unemployment.
(a) Frictional {b) Cyclical
(c) Structural (d)  Turnover

V. The Philips curve describes the relationship between
(a) The federal budget deficit and the trade deficit
(b)  Savings and investment
(¢)  The unemployment rate and the inflation rate
(d) Marginal tax rates and tax revenues

vi.  Which of the following would cause the aggregate demand curve to shift to the right?
(a)  Anincrease in purchases by the federal government
(b)  Anincrease in real interest rates
(c)  Anappreciation of the Pakistani Rupee
(d) A decrease in the money supply

vii.  The slope of the aggregate supply curve is always

(@)  Positively upward (b)  Negatively Downward
(c) Both (a) and (b) (d) = None of the these
viii. The IS curve represents negative relationship between interest rate and level of
(a) Prices (b) Income
(c) Wages (d)  None of the these
ix.  The LM curve represents a relationship between interest rate and level
of income.
(a) Negative (b)  Downward Sloping
(c) Positive (d) Both (a) and (b)
X. Sticky wage model explains why short run aggregate is upward sloping.
(@  Supply Curve (b) Demand Curve

(¢)  None of these (d) Both(a) and (b}
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Q.#2: Explain the following briefly. (5x4-=20)

i. The circular flow of national income?

5&{6}!)(&175}. i

ii. Automonous and induced investment?

d/(ghf’ﬁ&gﬂ?;ul}?bf di
ili. = Okun’s Law.

IEES i

iv. IS Curve.

b‘&iéf iv
V. Types of Inflation.

R 9STY)

Q.#3: Explain three approaches for measurement of national income.

(10) .
LB PBE LTI 34U
Q.#4: Explain Permanent income and life-cycle hypo'thesis of Consumption. (10)

-/ /. ::#L'm; & }". LGJTJ J , J Q?J"GJTQ}:’ ‘ﬂ&llg&d/ :4/:‘.' Jir

Q.#5: What is Aggregate Supply Curve? Also discuss imperfect information model.(10)

YT AT o VRN 2 SRy ) o
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Q.#1: , (1x10=10)
i. Due to increase in population and inheritance laws landholdings are over and over again.
() Subdivided (b) Accumulated
(c) Scattered at different places (<)) None of the above
ii. The most important problem of agriculture is:
(@) High yield per hectare (b)  Constant yield per hectare
© Low yield per hectare (d) All of the above
iii,  There is a large potential for diversification of agricultural activities in Pakistan, because
Pakistan has: ’
(a) All types of climates and seasons.  (b) Unfavorable climatic conditions
(c) Rainy pattern of climate (d None of the above
iv.  Pakistan’s agricultural sector’s contribution to GDP is:
(a) 27% (b) 23%
(c) 18.9% ()] 15%
v.  Target fer the growth of agricultural sector for 2017 — 2018 was:
(a) 4.5% (b) 3.5%
(©) 2.3% (d) 6.2%
vi. Pakistan has two cropping seasons.
(@) Kharif and spring (b) Kharif and Rabi
(©) Rabi and spring (d) All of these
vii. According to Picardian theory of Rent, there applies, law of:
(a) Increasing returns (b)  Decreasing returns
(c) Constant returns (d)  None of the above
viii. In agricultural sector there exists.
(a) Unemployment (b) Disguised unemployment
(¢)  Full employment (d)  All of the above
ix.  The facts reveal that the number of mouths to feed on this planet is:
(@) Decreasing b) Increasing
{©) Remaining the same d) All of these
X. Keeping in view the conditions prevailing in the world we find that word’s food supply is:
(a  Satisfactory (b)  Not satisfactory

(¢)  Not predictable (d}  None of these
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Q.#2: Write Short answers of the following questions. (2x10=20)
I. Discuss commercial farming?
ii. What is meant by land tenure system?

iii. How can we control water logging & salinity?
iv. Write note on traditional agricultural farming?
V. Define Quasi rent?

Vi. What is tenancy under uncertainity?

vii. ~ What are main principles of farm management?
viii.  Suggest measures for food safety in Pakistan?
ix. What is malthusian Dilema? |

- X. Discuss the relationshnip between agriculture and environment?

Q.#3: “The development of agri-sector and industrial sector is inter—dependant”.

Explain with reference to Pakistan. (10)
eIt L LIS AT 285 3
| YRRy
Q.#4: (a)  What is the concept of Agri-Credit. (&)}
(b)  Enlist the sources of Agri-Credit. A)
(¢} Isithelpful to improve the living standard of “)
farmers in Pakistan? |

el 80 () aAUr
S\ OBl 85 (L)
?q_cﬁn:f.hfu uff_b}"t’f J ﬁ);!yéul)’uﬁ ub@ré; d J)Lr( @)

Q.#5: Discuss the Pros. and Cons of WTO and explain its impact
for Pakistan’s Agriculture sector. (5+5=10)

@l}'lLJI4,..=~‘-"(!JJZ:ul‘ﬂ:l;ulq/&i/,@bw:ﬂ}é:(WTO)K-E JA;’J& 1541y
..L[f:a?l}:(;
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Q.1 Encircle the correct answer ' (lel-‘-lo)r

i.  The ultimate source of long-term growth in already developed countries is
a. Increased worker productivity
b. Larger and more powerful government
c. A workforce that always works harder
d. Unrestricted immigration

ii. A country experience trade surplus if
a. Exports are more than imports
b. Imports are more than exports
¢. Imports are equal to exports
d. None of the given option

iii. Balance of payment can be examined as:
a. Difference between total receipts from and the total payments to the rest of the
world
b. Difference between import and export
¢. Difference between production possibility curve and consumption curve
d. None of the given

iv. The intersection of demand curve for imports and supply curve of exports shows:
a. Partial equilibrium at which trade take place
b. Partial equilibrium
c. General equilibrium
d. General equilibrium at which trade take place

V. An economist will define the exchange rate between two currencies as the:
a. Amount of one currency that must be paid in order to obtain one unit of another
currency.
b. Difference between total exports and total imports within a country.
Price at which the sales and purchases of foreign goods take place.
d. Ratio of imports prices to export prices for a particular country.

o

(P.T.0.)



Vi.

vii.

viii,

ix.

If all international transactions were included and measured accurately, then the
statistical discrepancy would be ‘
a. Zero. e o

b. Short-term capital flows only. ‘

¢. Positive only if the central bank intervened to support the currency.

d. Negative if the country were running a trade deficit.

The balance of trade is given by: , :

a. income receipts minus income payments on investments

b. the balance of unilateral transfers

¢. merchandise exports plus service exports minus the sum of merchandise and
service imports B

d. merchandise exports minus merchandise imports

Floating exchange rates refer to: ‘

a. the ability of exchange rates to even out when displaced by shocks to the foreign
exchange market ' ‘

b. new issues of foreign exchange offered on the market

¢. an exchange rate determined by the demand for and supply of a nation's currency

- d. an excess demand for a nation's currency that causes its devaluation

The HR plans of any organization does not includes

a. personnel plans

b. production plans

C. compensation plans

d. training and development plans
OPEC is the

a. Organization of Petroleun Exporting Country.

b. Organization of Pre- European Commission.

c. Oil Producing Economies Caycus,

d. Organization of Problematic Economies Committee.
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Q.2 Give short answers to the following questions. (5X4=120)

Trade deficit

o]

b. Role of manpower in economic development
¢. Issues in agriculture sector of Pakistan .
d. Differentiate between economic growth and economic development.
Q.3 Give answers to the following questions. . ©(10x3=30)

a. How industrial sector can increase economic growth of Pakistan? Discuss in detail.

b. Economic Planning is considered as road map for economic development. Discuss in
detail,

¢. How deficit in balance of payment affect any country.
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Q1 o © (10x1=10)

i) Pakistan is classified as a

a. Developed country b. Underdeveloped country
C. Least developed country d. Developing country
it} IMF stands for
a. Imposing Misery and Famine b. Impossible Mission Force
C. International Monetary Fund d. international Monopoly Fund
ifi)  Banks were nationalized in Pakistan in
a. 1988 b. 1948
c. 1974 d. 2012
iv)  Pakistan’s major exports include
a. Oit b. Gas
c. Agricultural Products d. Industrial Products
v}  The fifth five year plan was for
a. 1973-1978 a. 1978-1983
¢ 1956-1961 C. 1961-1966
vi)  Pakistan’s largest source of revenue is
a. Direct tax b. Indirect tax
c. Import tariff d.  Excise duties
vii)  Pakistan’s Per Capita income in US dollars is below
a. 1000 b. 500
c. 1500 d. 6000
viii) USA's a
a. Developed country b.  Developing Country
c. Least developed country d. Transitional economy
ix)  Tacavi loans are source of
a. Agricultural Credit b.  Housing Finance
¢. Industrial Loan d. Loan to import oil
x)  Following is a characteristic of a developing country
a. Low Population Growth b. Low Industrial Production

c. Low Unemployment rate d. Low Infant Mortality Rate
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(2) Provide short answers {maximum 10 sentences per answer}). (MARKS: 20)

i.  Why do we need foreign aid?

ii.  Whatis meant by Cottage Industry?
ii.  What is meant by Agricultural Marketing?
iv. - List any five imports of Pakistan.

v.  List at least five sources of Agriculture Finance.

vi.  How can we improve our education? List at least five suggestions?
.-vii.  What are the reasons of adverse BOP? Provide only a list of at least five reasons.
viii.  How does corruption impact economic development?

ix.  How do projects like orange train and motorway benefit the economy?

X.  Whatis the difference in Fiscal and Monetary Policy?

(3) Answer the following briefly (maximum 20 to 30 sentences per answer)}. (MARKS: 30: 10
each) _
i, What are the characteristics of less developed countries?
ii. What are Pakistan’s major exports?
iii.  Discuss the importance of education in economic development.
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SECTION 1 (OBJECTIVE,

Note: Attempt all questions.

Q. No. I: Select the Correct Answer.
1. If two goods are substitutes of one another, then the cross elasticity of demand for
these goods is:
a). Positive b). Negative ¢). Zero d). None of these
2. Slope of an ordinary difference curve is:
a). Infinite b). Negative ¢). Positive  d). Zero
3. Net change in total revenue due to selling of an extra unit of out-put is called:
a). Price b). TR c). MR d). AR
4. Compensated derand curve is also known as:
a). ICC b). PCC
¢). Hicksian demand curve d). Marshallion demand curve
> A combination of inputs which minimizes cost is:
a). Optimum factor combination b). Non proportionate combination
c).a&b d). None of these
6. [n function Q = L* K&, if a + B>| , there are:
a). Constant returns to scale b). Decreasing returns to scale
c). Increasing returns to scale d). All of these
7 When LAC is at its minimum point, LMC intersects it:
a). False b). True c).a & b  d). None of these
8. The best or optimum level of out-put for a perfectly competitive firm is given by the
point where:
a). MR equals AC b). MR equals MC
¢). MR exceeds MC by greatest amount d). MR equals MC and MC is rising
% The best or optimum level of output for a pure menopolist occurs at a point where:
a). STC is minimum b). TR =STC
¢). TR is maximum d). The TR and STC curves are parallel
10.

In case of price leadership by the dominantfirm, all the firms will produce (in a
purely oligopolistic industry) their best level of out-put.

a). Always b). Never ¢). Some times d). Often
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Attempt this Paper on Separate Answer Sheet provided,

SUBJECTIVE
Q.No.2 Write short answer to the following. . (4x5=20)
L Engel’s Curve
1I. Cross elasticity of demand
I1. Marginal rate of technical substitution
Iv. Reserve capacity
V. Monopoly

Q.No.3  Prove that price effect (PE) is sum of substitution effect (SE) and Income (10)
Effect (IE) when the good is normal and price decreases.

Q.No.4 Explain long run equilibrium of a firm and industry under perfect (10)
competition.

Q. No.5 Discuss determination of price and output under price discrimination by (10)

monopoalist.
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Objective Part: Max Marks
Encircle the Correct Answer, (10}

1. The first order auto-regressive relationship of residual term is:
a) &, =pe 4
b) € =pE_ 4,
C) & =pPE 4+ H,
d) & =pg,+H,

2. The variance of the random error term may be seriously underestimated if the
errors are: .

a) Not correiated

b) Auto-correlated

c) Both (a) &{b)

d) None of these

3. The reduced form method is a:
a) Single equation method
b) Multi equation method
¢) Double equation method
d} None of these

4. Hetro-skedasticity can also arise as a result of the:
a} Presence of outlier

b) Absence of outlier

c) Both (a) & (b)

d) None of these

p.T.O.



The Method of OLS assumes that independent variables must be:
a) Endogenous
b) Exogenous
¢) Partially endogenous
d) None of these

T-stat is used to check:
a) Overall significance of the model
b) tndividual significance of the variables
c) Both (a) & (b)
d) None of these

An equation can be:
a) Exactly identified
b) Over identified
¢} Under identified
d) All of these

If qualitative data has three attributes and we introduce three dummy variables,
it refers to:

a) Qualitative classification

b} Categorical classification

c) Dummy variable trap

d) Absence of multi-collinearity

in Correlation analysis, there is:
a} Cause and effect relationship between variables
b) No cause and effect relationship between variables
¢) Both (a) & (b)
d} None of the above

10.

The correlation coefficient ranges from:

a3} Otol
b} -1to+1
c) -1to+ee

d) -o9tg +oo
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Subjective Paper: ]
Note: Attempt all Questions
Q2. Explain the following briefly.
i. R?and Adjusted R?
ii. tnstrumental Variables 4*5
iii. OLSandGLS =20

iv.  UseofZ-statandF - stat

v. LS and 2SLS

Qs. Income and Consumption expenditure (X and Y respectively) are given for 20
families. Given the data, estimate consumption function, indicate value of
MPC (marginal propensity to consume), indicate consumption level at zero 10
income and give economic interpretations of your regression results.

3 x=191200 ¥ y=175300 > x’ =2.165180,000
> y* =1813,469,000 ) xy=1973,670000 n=20

Q4. Distinguish between simple correlation and auto-correlation. How to find the
presence of auto-correlation? What are the consequences of auto-correlation | 10
and its remedies?
Qs. Consider the following OLS regression model:
Iny, =a+ flnx, +¢,
Where y: = Real food expenditure,

x. = Real food advertising expenditure
The model was estimated using quarterly data and sample size = 40. Seasonal
dummies (Seas) were introduced and the following results were obtained.

Iny, =8.236—0.076Seas, — 0.012Seas, —0.004Seas, +0.0175Inx,

R* =075
i.  Interpret estimated regression coefficients.
ii.  Explain why there are only three seasonal dummies in a regression.
iii. Comment on value of coefficient of determination.
o BON COURAGE

10
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OBJECTIVE
Q. #: Select the correct answer. (1X10=10)
I Real number system consist of :
a. (a) Integer (b) Fraction  (c) Rational and Irrational number (d) all

II.  Slope of the function y = 3x’ at x =2
a. (a)3 (b)2 (c) 12 (d) 3x

[li.  The price elasticity of demand in PQ=200 is
a. (a) 200 )0 (¢) Unity (d) Infinity

IV.  The matrix which has zero determinant is called as
a. (a) Singular Matrix (b) Non-Singuiar matrix(c) [dentity Matrix (d) None of
these i

V.  Slope of Straight line passing through the points (15, 27) and (20, 10)
a. (a) Positive (b) Negative (c) Zero (d) None of

these

V1. A minor coupled with prescribed sign is called:

a. (a) Transpose (b) Co-factor {c)Bothaand b (d) none
VII.  Minor with a specific algebraic sign is called as
a. (a) Matrix (b} Identity (c) Co-factor {d) Transpose
VIII.  The siope of quadratic function atits maximum point is
a. (a) Positive (b) Zero (c) Negative (d)
None of These

IX.  Under perfect competition, total revenue function is
a. (a) Cubic Function (b) Linear Function (¢) Quadratic Function (d) none

X. IfQd, = 400 —3P, — 4P, and Qd, = 200 — 7P, — 4 P, then these two goods will be
a. (a) inferior goods {b) complements (c) substitutes (d) griffon
goods
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NOTE: Attempt all questions

Q.2 Write the short answers (4 X5 =20)

(i) Differentiate between exponential and logarithmic function
(ii) What do you meant by non-singular matrix?
(iii) State duality theorems?
(iv) IfTC = Q’-3Q* + 100Q + 60
v) If Q=70-35P
Then find the siope of TR (Total Revenue)

Q3 If Qa=20-3p Q,=-5+29

Qd = Qs
a) Find equilibrium price (p) and equilibrium quantity (Q). : (5)
b) Find Elasticity of demand and elasticity of supply at P and Q (5)
2 30 .
Q.4 If A=|5 4 1] Find A™'? (10)
1 6 3
. . dy
Q.5 Find o of
(i) Y =9 -7y (5)

@  Y=in(:25) (5)
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NOTE: Attempt all the questions.

Q1. Encircle the correct answer. (1*10=10)

I.  The slope of transformation curve is given by
(a) MRT (b) MRS (c) MRTS 1k (d) All of the above
II.  Jim is studying the equilibrium of two markets simultaneously, he is said to be using:
(a) general equilibrium analysis
(b) partial equilibrium analysis
{c) comparative statics
(d) marginal theory analysis
[II.  The only way to increase the output of one good is to reduce the output of another. This allocation of inputs
| is said to be:
(a) consumption efficient (b) production efficient (c) economic efficient (d) none of the above
"~ IV. Efficient exchange occurs when
(a) every individual starts with the same initial endowment.
(b) every pair of individuals has the same marginal rate of substitution for every pair of goods.
(c) individuals with low initial endowments are compensated through redistribution programs.
(d) All of the above
V.  The allocation of commodities at the point where the indifference curves of individuals are tangent is:
(a) production efficient  (b) consumption efficient (c) fair  (d) utility-consumption efficient
VI.  If social cost is considered in the market then the production will
(a) increase (b) decrease (c) remain same (d) none of the above
VII.  The First Welfare Theorem states that, in a general equilibrium with perfect competition, the allocation of
resources 1s '
(a) fair (b) Pareto efficient  (c) biased toward the rich  {(d) unduly influenced by power relationships
! VIII.  The marginal rate of transformation is:
: (a} the negative slope of the production possibilities curve.
{b) the rate at which an economy can transform one output into another
{c) the rate at which an economy can transform one input into another

{d) A&B
IX. An allocation in which one person can be made better off only by making someone else worse off is
(a) inefficient. (b) efficient. (c) a partial equilibrium. (d) a general equilibrium.

X. GNP criterion of social welfare is given by
(a)Keynes (b) Adam smith (c) Hicks (d) Milton Friedman
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SUBJECTIVE TYPE
Q2. Briefly answer the following questions (4*5=20)
1. What is general equilibrium analysis?
ii. What is the difference between equity and efficiency?
iil. Differentiate between public goods and private goods.
1v. What is product mix efficiency?
V. What is meant by welfare economics?
Q3. Explain the Bentham’s and Bergson criterion of social weltare. ' (10)
Q4. Using an Edgeworth box, illustrate and explain the concept of Pareto efficiency. (10)

Q5. Explain the fundamental theorems of welfare economics and discuss their implications. (10)
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Q.1 Choose the appropriate option

1. If the price of the product produced by the labor decreases, the marginal revenue product of
labor curve will:

a). Be unaffected since productivity of labor has not changed
b). Shift to the left

¢). Shift to the right

d). Become more inelastic

2. In a competitive labor market, firms will hire labor up to the point where the marginal revenue
product of labor equals:

a). Total labor cost b). Marginal factor cost
¢). The price of the product d). The marginal product

If the target rate of unemployment falls, potential income will:

(W8]

a). First decrease, then increase b). Increase
¢). Decrease d). First increase, then decrease

4. Technological improvements will:

a). Leave the production possibility frontier unchanged.
b). Shift the production possibility frontier inward.

¢). Shift the production possibility frontier outward.

d). Necessarily lead to increased unemployment.

5. To increase growth, governments should do all of the following except:

a). Encourage saving and investment.

b). Encourage foreigners to investment in their country.
¢). Encourage research and development.

d). Nationalize major industries.

6.  If output price is constant, the marginal revenue product of labor curve will have the same shape
as the:

a). Marginal product of labor curve b). Marginal cost curve
¢). Total product of labor curve d). Totat variable cost curve

7. Sectora! shifts tend to raise which type of unemployment?

a). Unemployment due to job search

b). Unemployment due to minimum wages
¢). Unemployment due to unions

d). Unemployment due to efficiency wages

8.  Surplus labour theories assume that:

a). Less developed countries are overpopulated.

b). Labour contributes nothing to output in less developed countries

¢). The marginal product of labour is close to zero in less developed countries
d). There is too much unemployment in less developed countries.

9. The marginal revenue product curve of labor will always shift to the right if:

a). The wage rate rises

b). Product demand decreases and product price decreases
¢). Product demand increases and product price increases
d). The price of capital rises

10. The unemployment in which workers are unemployed due to the recession is called:

a). Disguised unemployment b). Frictional unemployment
¢). Cyclical unemployment d). Structural Unemployment
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Question No. 2

Write short Answers to the following: (4x5=20)

1. Tools to analyze labour market and conditions.
2. Supply of labour
3. Types of unemployment
4. Minimum wage law in Pakistan
5. Child Labour in Pakistan.
Question No.3

Explain the role of labour union in Pakistan. (10)

Question No. 4

Discuss the impact of training on labour productivity. (10)

Question No. §

Discrimination in labour market is not acceptable in any country. Discuss (10)
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Q.2. Briefly explain the following: ' (20)

i. Illustrate the concept of Transaction Demand for money.

ii. Describe the Say’s law of markets.

iii.  Enlist the components of A.D.

iv, Define Fiscal Policy.

v. What are the components of Aggregate demand.

Vi. Explain the concept of business cycle.

vii.  Explain steady state equilibrium conditions.

viii.  Define inflation and inflation rate.

ix. Explain the Balance Payment.

X. List the objective of Fiscal Policy.
Q.3. Explain the determinants of Aggregare supply. (10)
Q.4. Briefly discuss inflationary and deflationary gaps. 10)

Q.5. Derive the AS curve under classical assumption. 10)
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Q.1. Tick or Encircle the most suitable option for each question (10)

i If government increases taxes, private savings will

a. increase b. Decrease
c. not change : d. Will become zero
ii. Which of following has the largest figure:
a. NNP b. GNP
C. DPI d. PI
iii. MPC is equal to:
a. c/Y b, AC/AY
c. Y/C d. AY/AC _
iv.  IfMPC=0.75 and national income is Rs. 400 billion. National consumption will be equal to
a. 400*0.75 _ b. 400+0.75
C. 400/0.75 d. 400-0.75
V. The govt. can control inflation by
' a. Increasing government expenditures  b. Increasing maney supply
C. D'ecreasing money supply d. Decreasing interest rate
vi. The most important feature of money is:
' a. General acceptability b. Convertibility into gold
c. Store of value _ d. Medium of exchange
vii. Inflation is a situation when
a. Prices of some goods rise b. Price of gold rises
. C Stock prices rise d. General price level rises continuously
viil. During Infiation '
a. Lenders lose, borrowers gain b. Borrowers lose, lenders gain
c. Borrowers and lenders both lose d. All sections of the society gain
- ix. Which is the most widely used tool of monetary policy
a. Clearing house " h. Open market operations
C. Discount rate d. Issuing of notes
X. Taxes are levied to
a. Penalize people b. Provide direct benefits to tax payers

c. Provide general benefits for the people d. To accumulate funds
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Q.2. Explain the following briefly. (5 x 4 =20 Marks)
(i) Moving Average process
(ii) Specification Bias
(ii)) ARCH models
(iv) Unit Root test
(v) Restricted Least Square

Q3. (i) Describe the least square estimation procedure in matrix notation. (5 Marks)
(i1) Explain the purpose and procedure of Chow test. (5 Marks)

Q4. (i) You are given the following data:
RSS1 based on the first 30 observations = 55, df = 25
RSS2 based on the last 30 observations = 140, df =25
Carry out the Goldfeld—Quandt test of heteroscedasticity at the 5 percent level of
significance. (4 Marks)
(i) Consider the following model
Yi=o;+aDi+ B Xi+y -

where Y < annual salary of a college professor, X :* years of teaching cxpericnce
D = dummy for gender

Consider three ways of defining the dummy variable.

a) D=1 for male, 0 for female. by D = 1 for female, 2 for male.

c) D=1 for female, -1 for male.

Interpret the preceding regression model for each dummy assignment. Is one method
preferable to another? Justify your answer. (6 Marks)

Q.5. Develop a suitable ARIMA model to forecast the labor force participation rate for females
and males separately. What considerations would you take into account in developing such a
model? Show the necessary calculations and explain the various diagnostic tests you use in
vour analvsis. {10 Marks)
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Q.1 Encircle the correct answer. 7 - -.-_(_lo_l\ia;ks) |

(i) In multiple regression, the R? increases whenever an explanatory variable is
a) added unless the coefficient on the added variable is exactly zero.
b) added unless the adjusted R? falls.
¢) added unless there is heteroskedasticity.
d) added unless the added variable is not statistically significant at the 5%-level.
(ii) Which of the following is an equivalent expression for saying that the explanatory
variable is "non-stochastic"?
a) The explanatory variable is partly random
b) The explanatory variable is fixed in repeated samples
¢) The explanatory variable is correlated with the errors
d) The explanatory variable always has a value of-one- - -
(ii1)The sample average of the OLS residuals is
a) some positive number since OLS uses squares.
b) zero.
c)unobservable since the population regression function is unknown.
d)dependent on whether the explanatory variable is mostly positive or negative.
(iv)ln the regression model ¥; = B4+ B,C; + B.F, + B;{C; X F;) + u,, where Y denotes
earnings, C a dummy variable for having a college degree and F a gender dummy
variable, 5,
a) 1s the gender difference in earnings for someone with a college degree.
b)is the gender difference in earnings for someone without a college degree.
¢)is the difference in earnings between those with and without a college degree
when F; = 0.
d) cannot be estimated since F; and (€, X F;) are perfectly collinear when F; = 0.
(v) The random walk model is an example of a
a)stationary model.
b) stochastic trend model.
c)binomial model.
d) deterministic trend model
(vi)The order of integration
aydepends on the number of lags in the VAR specification.
b) is the number of times that the series needs to be differenced for it to be
stationary. '

c)cannot be calculated in time series.
d)_ can never be zero.

(P.T.0.)



(vii) Which one of the following would NOT be a cansequence of using non-stationary data
in levels form?
a) The regression R? may be spuriously high
b) Test statistics may not follow standard distributions
c) Statistical inferences may be invalid
d) Parameter estimates may be biased
(viii) Negative residual autocorrelation is indicated by which one of the following?
a) A cyclical pattern in the residuals '
b) An alternating pattern in the residuals
c) A complete randomness in the residuals
d) Residuals that are all close to zero
(ix) What is the meaning of the term "heteroscedasticity"?
a) The variance of the errors is not constant
b) The variance of the dependent variable is not constant
c) The errors are not linearly independent of one another
d) The errors have non-zero mean
(x) For a stationary autoregressive process, shocks will
a) Eventually die away
b) Persist indefinitely
¢) Grow exponentially
d) Never occur
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Q2. Write short answers of the following questions (5 x 4=20)

i, Find [ XInX dX

ii. What is difference between Eular and Maclaurin series?
iii. Find the roots of the equation 2X° — X + 1=0

iv. Find Y.and Y, of dy/dt — 2y = 0 where y (0)=9

v. What is meant by exact differential equations?

Q3. Solve the following difference cquation and verify your answer.
Yt+2 - 2 YE+1 '+' 2 YC = 1 WhETE Y(O) = 3, Y(l) = 4 (10)

Q4. Is the following equation exact? If not, try a possible integrating factor to solve the

equation.
2yt dy +3y*t* dt=0 (10)
Q.5. Derive Kuhn Tucker condition for verifying the optional values found in  non-

linear programming. (10)
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Q1. Tick the Correct answer

1. Square root of negative number is called:
a) complex number
b) imaginary number
c) both
d) none
2. Solution of [k &* dx
a) k
b) e*
¢) ke
d) None of the given
3. Derivative of sin © is:
a) Cos©
b) —Cos O
¢) -Sin©
d) Tan O
4. [X*dxis:
a) Proper integral
b) Improper integral
¢) Indefinite integral
d) None of these
5. According to Eular relation the polar form of complex number (h+vi) is:
a) R (Cos 6+ Sin ©)
b) R *
¢c) RCos©
d) RSin©
6. Derivative of cos ©:
a) cos@ b)-cos 0 c)-sin 6 ‘ d)sin

7. Particular integral shows:
a) reduced form equation b) inter temporal equilibrium cinothing

8. According to Domer growth model, output is function of:
aj labor b) capital c) K/L d)KandL

9. dy/dt +3ty=e%"is a: .
a) linear diff equation b) Bernoulli equation c)both d)none

10. dy/dt + ty= 3t%y is a:
a) linear differential equation b)bernouli’s equation
- ¢} difference equation d}an identity

Sixth Semester - 2018 \\l\loll NO. civereneretoscnane
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Q # 2:Give answers to the following short questions .(4*5=20)

i. Write down the causes of over population of Pakistan (any five)

ii. What are the sources of demographic data?

iii. What is meant by efficiency of labor? Which factors affect the efficiency of labour?
iv. How Optimum theory of population is better than Malthus theory

Part-11
Q# 3: Attempt All Questions (10*3=30)

i. Mentton the negative aspects of population growth on socio economic setup. (10
it. Discuss the qualitative and quantitative aspects of population in Pakistan, (1m

iii. Explain the Microeconomic Household Theory ol Fertility. (10)



~

UNIVERSITY OF THE PUNJAB  ™._-
Examination: B.S. 4 Years Programme .

PAPER: Population Economics TIME ALLOWED: 15 Mints. ">,

Course Code: ECON-309 Part—IgCompulsog MAX. MARKS: 10

Attempt this Paper on this Question Sheet only.

Please encircle the correct option. Each MCQ carries 1 Mark. This Paper will be collected
back after expiry of time limit mentioned above,

Question #1 Select an appropriate answer from the following options :(1¥10=10)

1. In which stage of demographic transition is the population growth rate highest?

(a) First (b) Second (c) Third (d) Fourth

2. In a developing country:

(a) Birth rate is high (b) Death rate is high

(¢) Infant mortality rate is high (d) All of the above arc true

3. The theory that says the level of population at which per capila income is maximum:
(a) Theory of population by Malthus (b) Theory of uptimum populavon
(¢) Theory of demographic transition (d) none of the below

4. The Census is carricd oul every

(a) year (b) 2 years (c) 10 years (d) 5 years

5. Social factor ol high birth rate is:

(a) Joint Family System {b) Lower age at the time of marriage

(¢) Religious and social superstitions (d) all of the above

0. The Malthus population trap assumes that

a) Contraception is unavailable b) Mortality declines with per capita income
¢) Technological progress may be rapid d) All of the above

7. Total population of Females after provisional results of sixth population census 2017 in
Pakistan is
a) 104.31 million b) 102.31 million c) 103.31 million d) 101.31 miltion

8. Total Fertality rate is

a) The total number of children born in a country in given vear divided by Labour lorce
b) The number of chiidren born to the average women during her reproductive years

¢) The number ol women age 14-45 ina country divided by total population

9. In the world population-wise Pakistan is:
(a) 3rd (b) 4th (c) 6th (d) 8"

10.De-population is a
a) A reduction in natural increase b) A decline in immigration
¢) Rural-Urban migration d) The absolute decline in the population

Sixth Semester - 2018 v RolENo. ..coviiianinnens
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Q2. Explain the following briefly. 4 X 5=20

. Terms of trade
H.. Growth trade off
.  Debt management in Pakistan
V. Difference between Foreign Aid and Debt
V. Difference between underemployment and unemployment

Q3. How Social Action Program (SAP) has affected the economy of Pakistan? 10

Q4. Discuss various channel through which investment in human resources can. increase
economic growth 10

Q5. How the formation of World Trade Organization (WTO) has affected the trade balance of
developing countries like Pakistan. 10
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Q1. Encircle the correct answer.

1. For life expectancy the upper limit of 100 was assigned o ... vears and lower limit of
| was assigned to .... years in physical quality of life index (PQLI}).
a. 75,27
b. 77,28
c. 79,23
d. 25,79

2

Life expectancy in Pakistan is:
a. Less than 60 years
b. Between 60 to 70 vears
¢. Between 70 10 80 vears
d. More than 80 vears

(V%)

The Human Development Index (HDI) ranks all countries on the scale of:

a. Otol
b. |to 100
c. -lro+t

d. None of above

4. The World Trade Organization (WTO) officially commenced on:
a. {* Jaquary 1994
b. 1 January 1995
c. 1% January 1996
d. 1 June 1994

5. An approach refers to the position of an individual or household in relation to an income
*just sufficient to ensure the satisfaction of an individual or household expenditures.
a. Subjective approach
b. Absolute approach
¢. Relative approach
d. Poverty line

6. According to caloric based approach of poverty, an individual must intake ...... calories
per day .
a. 2250
b. 3150
c. 3250
d. 2150

7. Pakistan got a major debt relief in
a. Ziaul Hag regime
b. Pervez Musharraf regime
¢. Nawaz sharif regime
d Asif Ali Zardari

8. Debt burden can be measured by
a. Debt to GDP ratio
b. Debt to export ratio
¢. Debt service payment 10 export earnings ratio
d. Al of the given option

6. USAID project is an perfect example of
a. Tied loan
b. Grant
c. Aid
d. Untied loan

10. United States of America zid to Pakistan is an example of
a. Bilatera! source of aid
b, Multilateral source of aid
¢c. Consortium source of aid
d. None of the given option
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Subjective Part

Give short answers to the following questions. (20)

1.

Define increasing opportunity cost and explain its reason.

2. What is transfer problem?
3.
4
5

What does factor price equalization theorem postulate?

. What is intra-industry trade? How it can be measured?

What is meant by trade diversion? Explain.

Explain Heckscher-Ohtin model of international trade. (10)

How can international trade take place according to product cycle model? (10)

Analyze general equilibrium effects of the imposition of a tariff in case of small
country. (10)
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Subjective Part
Q:2  Give short answers to the following questions. (20)

I. Define increasing opportunity cost and explain its reason.

. What is transfer problem?

2

3. What does factor price equalization theorem postulate?
4. What is intra-industry trade? How it can be measured?
S

What is meant by trade diversion? Explain.
Q: 3 Explain Heckscher-Ohfin model of international trade. (10)
Q:4  How can international trade take place according to product cycle model? (10)

Q:5  Analyze general equilibrium effects of the imposition of a tariff in case of small
country. (10)
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Objective Part
Q:1 Choose the correct option. 10)
L. The Heckscher-Ohlin theory explains comparative advantage as the result of
differences in countries’: '
a. Economies of large scale preduction b. Relative costs of labour

¢. Relative abundance of various resources d. Research and Development

2. . Which trade theory suggests that comparative advantage tends to shift from one
nation to another as a product matures?

~ a. [ntra-industry trade theory b. Inter-industry trade theory
c. Overlapping demand theory d. Product cycle theory

(9]

A tax of 20 rupees per unit of imported cheese is an example of

a. Compound tariff b. Specific tariff
c. Ad valorem tariff d. Effective tariff
4, Which international organization stipulates procedures for the settlement of

international trade disputes?

a. World Bank b. World Trade Organization
¢. International Monetary Fund d. Organization of Economic Development
5. A fall in the price of imports or a rise in the price of exports will

a. Improve the terms of trade

b. Worsen the terms of trade

c. Expand the production possibilities curve
d. Contract the production possibilities curve

6. The equilibrium international terms of trade is given by the intersection of two
nation’s
a. Demand curves b. Indifference curves
c. Offer curves d. Production possibilities curve

P.T.O.
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10.

Unlike the mercantilist, Adam Smith maintained that

a. Trade benefits one nation ouly at the expense of another nation
b. Government control of trade ieads to maximum economic welfare
c. All nations can gain from free international trade

d. The world’s output of goods must remain constant over time

If a production possibilities curve is bowed out (i.e., concave) in appearance,
production occurs under conditions of

a. Constant opportunity cost ' b. Increasing opportunity cost
¢. Decreasing opportunity cost d. Zero opportunity cost

According to Ricardo, a country will have a comparative advantage in the product in
which its ‘

a. Labour productivity is relatively low. b. Labour productivity is relatively high
c. Labour mobility is relatively low d. Labour mobility is relatively high

[f Australia has more land per worker, and Belgium has more capital per worker, then
if trade were to open up between these two countries,

a. Australia would export the land intensive product

b. Belgium would import the capital intensive product

c. Trade would not continue since Belgium is a small country
d. None of the above
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Briefly Explain the following
. 1. Diagnostic research
1. Quantitative research
ui. Exploratory research
1v. Null Hypothesis

Q.2 v. Primary Data 20

vi. Sampling Bias

vii. Questionnaire

viil. Interview
ix. Scale Construction
x. Observations

03 Discuss the sources of information to conduct social research.

: : 10
Q4 State basic procedures followed in the selection of statistical samples. 10
0.5 Elaborate the problems of communication in the construction of the questionaire

10

TIME ALLOWED: 2 hrs. & 30 mins.
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Qbjective Part
Q1 | " Encircle the Correct Answer 10
Failing to reject a false null hypothesis is called:
[ (a) Critical error (b) Type-1l error
(¢) Type-I error {d) Sampling bias
That research which seeks to solve practical problems is called - - ]
(a) Diagnostic research (b) Descriptive research
I
(c) Applied research (d) Qualitative research
Research that is done in laboratory is called:
(a) Field Research ' (b) Laboratory Research
I
(c) Longitudinal Rescarch {(d) Exploratory Research
The approach in which an artificial environment is created to generate relevant
information and data
IV | (a) Simulation approach (b) Inferential approach
(c) Experimental approach (d) Analytical approach
Type of focus group, in which two moderators intentionally take opposite sides, is
called:
V' |(a) Two-way focus group (b) Dual moderator Focus Group
‘ {c) Dueling moderator focus group (d) Respondent moderator focus group
L -
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NOTE: Attempt all Questions.
I.  Briefly explain the following terms. Each carrying equal (5) marks. | 20
' S Caabiny (€ Cladlal b 7 1 _eaii
1. Public goods sludl (s )\S
2. Externalities o5 LS
3. Non-Exhaustive Public Expenditures Salsal g AS ju adla 2
4. Wagner’s Law o588 58, :
2. What are determinants of Tax Shifting? Also explain the impacts of tax shifting 10
on price.
-w;ﬂc@bu&edﬂjﬂwéuﬁmw@ﬁ?u&adﬂ‘ft.eic_ﬁuiﬁhu@
3. Explain current existing problems in tax collection performance of Pakistan. 10
' Also suggest their measures.
* oS e e O O g e S Gl (S las o3 ga 8 S lsem s 0sRS e S
<. What do you know about deficit ﬁnanc-ing? lHow does it affect the smooth 10

working of an economy and how it can he avoided?

5 el S (S8 S e S Gila g 8 o 20a S e S g be e (S g et
?Cfus‘“"?‘\?éc*‘%gc”u"lﬂ“ c.—‘uJ_S-
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OBJECTIVE

NOTE: Attempt alt MCQs. All MCQs carry equal marks.
I- Tax is a payment :
1). Computsory (oY) b). Unnecessary (sosr= )
2- The economic incidence of unit tax is :

4). Generaily borne by the
Buyers s e p Bl b see)
{ _{__: (SR RV T

b). Generally borne by
sellers 3 3ea 3 1Sl e ga2)
(C-' [} _)5 Cadla PRSLIEY

3- A public good is ¢

b). Non rival in
consumption =S o)
Mg (B 58 o Jlariul
{»

a). A good for which public must
pay Y Sele o oSS
(e 3l S >

Lo Which of the lellowing lax is hest example
of.abiity to pay principle ol laxes :
b). Highway toll lax

(LSS dE 5 unlond)

). Lxcisc tax on cigarglics
(S sl Cu )
"5- Govt. budgel balanced when :
a). Govt. expendilure outstrips  b). Govt. tax reccipts outstrips

tax receipts S el sl o S 5-)  expenditure Ut a5 S )
(G a3 v ol yeoy S (Ul a5 o ol AT 5 1S lS

G- How Lhe government can meet its expenditure -

a). By taxing people b). By borrowing from banks
éu;ﬂ%ﬁ_}suﬁ}) and other govt. 2 ss'ws3)
‘ (o (s o Usie S 5 g

7- Nel taxes are
b). Business laxcs minus

personal laxes oS8 sk S)
(S5 i ile

a). Domestic laxes minus
{orcipn taxes oS )
(UsSST (5 o (oAb

8- Which is not counted a public expenditure

a). Subsidy given to local b). Defense
city bus service v dSs)
(et 5 2 o (el (sas

9- Progressive laxes
- b). Bring equality in

a). Increased government revenue distribution of incomes

- . s Ay gl gm0l
(U 250 U sy 5 NS ) )

(wasY

10- A direcl tax .

a). Js heavy burden on b). can be directly depasited in

{he tax payers s &)  the banks oS ex o0 S5
(=5 5ie o) 2 (B> h

¢). Temporary { u=_=)

c). Generally borne by the
government 4 5 Sl Lo a2}
(o s S il e Sn

¢). More costly than a
private good s == )
(T ER)

¢). Proportional sales tax -
{ WS 55 aaliia)

¢). By printing new money
(2 2S5 Sz oS os B )

S s e O8S US)
(otSstab st

¢). Investmeni spending by private
expenditure = 123)  companies ~te oS DS )

¢). Cannot be evaded
(s Jo i o) Bz v )

10
§ o eSS (Sl -1
d). Voluntary (=S L=))
¢ o bt - PORTORVCR B LI )
d). Independent of the
statutory incidence for

the tax o (Xal (2548)
GECEES

P N S )
d). Paid by the

governmens ~Susd S Sa)
(= s

e (5 S gl 5 Sl (€ Bl (8 08 ¢ G L 5 e

P
d). Personal income tax
( 5-; d—l.\a] : -,-)

D o U O e S s S-S

©). Govt. expenditure

cquals tax revenue S ) d). none of these

S s 05 s P s
(CETY

(L3 5 55 e O )

R AR P -6

d). By all the three
methods uss — e Of)
{ s 0sub

Lo L)“S‘:’: \,‘3-“-:* -7

¢). Total taxes minus
govt. transfer payments

d). Tolal taxes minus govt.
purchases e s i LS5 J5)
(Uhahu s

LU e g s M ek S e 018

d). Interest payment on
national debt. g —= 5 L)
(Ui:\:ﬂ:i S8 g

T oS 1 s -9
¢). Compel rich people

10 be honest w55 s )
(on S laibat 48

d}. both (2)&(5)

(b osa)u 5 90

oSt a0 -10

d). Is paid by the person on
whom it is levied s> )
(26 8Y poe 28



